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AukM 7 1000[&F  |cFU/mL| O sE5 0.70]5} mg/L | 2d&
ST =dE /100mL| EHZ of| el I 0.30]5} mg/L | 2d&
e P S =4z /100mL| EHE A 0.50| 5t mg/L | 2H4&
= 0.010l5t | mg/L|E2dZE 1.1-CI2z 2023 0.030|5F | mg/L [2HE
2 1.50|5} mg/L | 2H& AlH ShERA 0.0020|8t [ mg/L |EHZ
B4 0.010]| 5} mg/L | 24Z&| |1.2-CIERE-3-Z2E2=ZH| 0.0030]|5} mg/L | 24Z&
Mell & 0.010]|5} mg/L | 242 a4z 10000| 5t mg/L| 52
— 0.0010l8t | mg/L |2HZ oM ZEE A 2 100|3t mg/L| 0.3
Al 0.01013t | mg/L |2Z& Ll A et~ | s
EE 0.0505t | mg/L |2Z2 of ame - | us
Lot A 4 0.50] 3} mg/L |24 & = 10| mg/L | 0.023
A 100|5t mg/L | 3.3 M 50|35 T |=EE
24 10|35t mg/L | 2HZE M| 0.50|8 mg/L | A&
tEE 0.0050]| 5t mg/L | =4dE Fa0|2EsE 5.8~8.5 - 6.1
H = 0.0050|5t | mg/L [2HZE oA 30| st mg/L | 0.034
Cto|ofX| = 0.020]| 5} mg/L | 242 HAa0l2 2500][3} mg/L | 25.5
T2 tE| =2 0.060|5t mg/L |24 & = 0.30]| 3} mo/L | 2dE
HUEZE2 0.040|3} mg/L |24 & e, 0.30]| 3} mg/L | 2dE
7tetd 0.070|5} mo/L | 2dZ S 10|35t NTU | 0.10
1.11-EE[2 220 Et 0.10[st mg/L | 24Z kol 2 2000|3} mg/L| 17
HE=zIZZ=o| &l 0.010|3t mg/L |24 & URolg 0.20]| 3} mo/L | 2d&
EZ[EZ 2023 0.030|35t mg/L |24 & 1,4-Cto| =44 0.050]| 5t mo/L | 2dE
CIZ22m et 0.020|3t mg/L |24 & Lt 0.030] 35t mo/L | 2dE
Gl 0.010]|35} mg/L | 24 & o st of
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AukM 7 1000|3F  [CFU/mL| 62 =l 0.70l5t mg/L | 2dE
ST =dE /100mL| EHZ of| el I 0.30]5} mg/L | 2d&
e P S =4z /100mL| EHE A 0.50| 5t mg/L | 2H4&
= 0.010l5t | mg/L|E2dZE 1.1-CI2z 2023 0.030|5F | mg/L [2HE
2 1.50|5} mg/L | 2H& AlH ShERA 0.0020|8t [ mg/L |EHZ
CIE~ 0.010|3st mo/L |24&|[1.2-CIE22-3-222= 28 0.0030|s} | mo/L |=&Z
dajlg 0.010|3st mg/L | 2H& P e 10000|3t [ mg/L| 110
=2 0.0010lst | mg/L [2HE oHUZHZE R A H| 2 100[3t mg/L| 0.3
Al 0.01013t | mg/L |2Z& Ll A et~ | s
as 0.05013t | mg/L |22= of ame - | us
et Lot Al A 0.50] 3} mg/L |24 & = 10| mg/L | 0.019
A 100|5t mg/L | 3.6 M 50|35 T |=EE
8 105t mg/L |24 & Al 0.50|5 mo/L | 2dE
tEE 0.0050]| 5t mg/L | =4dE Fa0|2EsE 5.8~8.5 - 6.6
H = 0.0050|5t | mg/L [2HZE oA 30| st mg/L | 0.060
Cto|ofX| = 0.020]| 5} mg/L | 242 HAa0l2 2500][3} mg/L | 45.7
T2 tE| =2 0.060|5t mg/L |24 & = 0.30]| 3} mg/L | 0.06
HUEZE2 0.040|3} mg/L |24 & e, 0.30]| 3} mg/L | 0.005
7tetd 0.070|5} mo/L | 2dZ S 10|35t NTU | 0.96
1.11-EE[2 220 Et 0.10[st mg/L | 24Z kol 2 2000|3} mg/L| 10
HE=zIZZ=o| &l 0.010]st mg/L |24 & URolg 0.20]| 3} mo/L | 2d&
EZ[EZ 2023 0.030|35t mg/L |24 & 1,4-Cto| =44 0.050]| 5t mo/L | 2dE
CI2ZZMH &t 0.020|s} mg/L | 24 & <2hs 0.030][s} mg/L [0.0002
Gl 0.010]|35} mg/L | 24 & o st of
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AukM 7 1000|3t  [cFu/mL| 180 sE5 0.70]5} mg/L | 2d&
ST =dE /100mL| EHZ of| el I 0.30]5} mg/L | 2d&
cHMEAE =4z /100mL| EHE A 0.50| 5t mg/L | 2H4&
= 0.010l5t | mg/L|E2dZE 1.1-CI2z 2023 0.030|5F | mg/L [2HE
2 1.50|5} mg/L | 2H& AlH ShERA 0.0020|8t [ mg/L |EHZ
B4 0.010]| 5} mg/L | 24Z&| |1.2-CIERE-3-Z2E2=ZH| 0.0030]|5} mg/L | 24Z&
Mell & 0.010]|5} mg/L | 242 a4z 10000| 5t mg/L | 210
— 0.0010l8t | mg/L |2HZ oM ZEE A 2 100|3t mg/L| 0.3
Al 0.01013t | mg/L |2Z& Ll A et~ | s
EE 0.0505t | mg/L |2Z2 of ame - | us
Lot A 4 0.50] 3} mg/L |24 & = 10| mg/L | 0.007
A 100|5t mg/L | 6.0 M 50|35 T |=EE
24 10|35t mg/L | 2HZE M| 0.50|8 mg/L | A&
tEE 0.0050]| 5t mg/L | =4dE Fa0|2EsE 5.8~8.5 - 6.8
H = 0.0050|5t | mg/L [2HZE oA 30| st mg/L | 0.045
Cto|ofX| = 0.020]| 5} mg/L | 242 HAa0l2 2500][3} mg/L | 84.7
T2 tE| =2 0.060|5t mg/L |24 & = 0.30]| 3} mo/L | 2dE
HUEZE 2 0.040]| 5} mg/L | 242 azt 0.30[5} mg/L | 0.006
7tetd 0.070|5} mo/L | 2dZ S 10|35t NTU | 0.29
1.11-EE[2 220 Et 0.10[st mg/L | 24Z kol 2 2000|3} mg/L| 25
HE=zIZZ=o| &l 0.010|3t mg/L |24 & URolg 0.20]| 3} mo/L | 2d&
EZ[EZ 2023 0.030|35t mg/L |24 & 1,4-Cto| =44 0.050]| 5t mo/L | 2dE
CI2ZZMH &t 0.020]| 5} mg/L | 24 & <2hs 0.030][s} mg/L [0.0043
Gl 0.010]|35} mg/L | 24 & o st of
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UM T 1000|3  [CFuU/mL| O =t 0.70l5t mo/L | EHE
ST =4ds /10omL{ 24 Of| = &I I 0.30[3t mg/L | EHE
MU ETT =2UE /1oomL| 242 SR 0.50|3t mo/L | EHE
= 0.010l3t | mg/L |2&Z 1.1-Cl 2220 23 0.030I5t | mg/L | =&HE
24 1.50]|5} mg/L | 242 At StEbA 0.0020|3t | mg/L |2HE
B4 0.010]35} mg/L |24 &| |[1.2-CIER22-3-22ZZ 28| (0.0030]|5} mg/L | 24Z&
Mell & 0.010]|5} mg/L | 242 a4z 10000| 5t mg/L | 81
e 0.0010|3t | mg/L |2HE DpUZHAZEE AH| — 100[3t mg/L| 0.3
Al ok 0.010l8t | mg/L |2HZE ol Af e | - | %S
EE 0.0505t | mg/L |2Z2 of ame - | us
et Lot Al A 0.50(5t mg/L | EHE = 10|38 mg/L | 0.028
PSRN NS 100]| st mg/L| 5.7 M 50|35 T |EHE
24 10|35t mg/L | EdZ M| 0.50|5 mo/L | EHE
tE& 0.0050] st mg/L |24 & F=0|2EL 5.8~8.5 - 6.2
H= 0.0050|3t | mg/L [2&H & oted 30|5t mg/L | 0.010
Cto|ofX| = 0.020]| 5} mg/L | 242 HAa0l2 2500][3} mg/L | 25.5
aj2hE| 2 0.060] 5} mg/L | EHE = 0.30[5t mg/L | EHE
HUEZE2 0.040]5} mg/L | EHE = d 0.30[5t mg/L |EHE
Ftete 0.070]5} mg/L |[E4& BT 10|35t NTU | 0.12
1.11-EE[2 220 Et 0.10[st mg/L | 24Z kol 2 2000|3} mg/L| 19
HEzZIZZ 2022l 0.010]5} mg/L | EHE UR0|5 0.20|5t mg/L | EHE
EZ| 2z =g 0.030]5} mg/L | EHE 1,4-Cto| S 4t 0.050]5} mg/L | EHE
CI2ZZ22MEt 0.020]5} mg/L | EHE == 0.030]5} mg/L | EHE
&l 7l 0.010]|35} mg/L | 24 & of st of




